

MDR GONSTRUCTION IN 621 EAST BAYLIS CHAPT COLUMBIA, ME 19627 PHONE 601 731 2776 FAX GOL 731 2776

October 22, 2018

Mr.	Clint Brown	
Flor	dia Public Utilites	

Invoice #	25-23101
Week Ending	October 21, 2018
Foreman	Roy Sullins
Storm Number	FE1890469751430

			0.0000000000000000000000000000000000000	1 62030 1037 31 430
Overtime	(a) (b)	Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Drive	r 5,311.53	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
	2007.101		Total Men	45,292.80
Equipment		Qty	Price	Total
Crew Cab Pick-up		112.00	24.31	2,722.72
Material Handler Buck	cet 57'	224.00	47.36	10,608.64
Digger Truck		 112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
	-,- 3		Total Equipment	20,606.88
	,;	Т	Total Due to MDR	65,899.68



Roy Sullins

FE1890469751430

Week Ending

10/21/2018

Location

Florida Public Utilities

	Men ar	nd Hou	ırs					То	tals			
Weekday	15	16	17	18	19	20	21			Meals	Motels	Other
Employee Name	M	T	VV	T	F	S	S	RT	ОТ			
Roy Sullins	16	16	16	16	16	16	16		112		-	Foreman
Josh Smith	16	16	16	16	16	16	16		112			Lineman
Barry Barnett	16	16	16	16	16	16	16		112		-	Lineman
Dakota Hudson	16	16	16	16	16	16	16		112		 	Operator
Jacob Welch	16	16	16	16	16	16	16		112			Groundman
and the second		, <u></u>				j ,						
		# !								3		
	1:		-		<u>l</u>			,			an re organização que	
	<u> </u>	Ĕl			٠. : نست							
<u> </u>	1-1-1	,				De - 221		Ner only		ing incom		The state of the s
	12					N y				100		4.00

ove list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom

	Additional Information									
Monday	5:00 AM - 9:00 PM									
Tuesday	5:00 AM - 9:00 PM	A STATE OF THE STA								
Wednesday	6:00 AM - 10:00 PM									
Thursday	6:00 AM - 10:00 PM	The second secon								
Friday	6:00 AM - 10:00 PM	The second secon								
Saturday	6:00 AM - 10:00 PM	Add - State Contraction of an area by contract or an arrange of the property of the contract o								
Sunday	6:00 AM - 10:00 PM									

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please of

		***************************************			EQUI	PMEN	T		
Equipment #	M	T	W	T	F	S	S	To	From
618 Crew Cab Pickup	16	16	16	16	16	16	16		
741 Material Handler Bucket	16	16	16	16	16	16	16	the same of the sa	The standard of returning of the second continues of t
590 Material Handler Bucket	16	16	16	16	16	16	16	on in the control of the gap Amagana at a last an age of expense pages.	The second secon
650 Digger Derrick	16	16	16	16	16	16	16	and the second s	 I This Self Self Control of Address the Control of th
749 Pole Trailer	16	16	16	16	16	16	16		9 0 4 2 22
					!				Mark the transport to the same of the same
7				··		1:			· · · · · · · · · · · · · · · · · · ·
	l			lim te	\$ · ·	·		(100 101 to 100 100 100 100 100 100 100 100 100 10	manufacture to a second of the second of
e nement				n		r	- · ·		

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman **Roy Sullins** Job No FE1890469751430 Week Ending 10/21/2018 Location FPU Marlanna Hurr. Michael

	To	tals										
Weekday	15	16	17	18	19	20	21			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
Roy Sullins	16	16	16	16	16	16	16		112			Line-Foreman
Josh Smith	16	16	16	16	16	16	16		112			Line-Journeyman
Barry Barnett	16	16	16	16	16	16	16		112			Line-Journeyman
Dakota Hudson	16	16	16	16	16	16	16		112			Equipment Operator
Jacob Welch	16	16	16	16	16	16	16		11.5			Line-Groundman
				#### *### _### 49 4.56			11 (00)					
				***********			.,, .					and an area of the second seco
			PP 1105.									
Action to the second section of the section o		,									***************************************	***************************************

In the spaces provided above flat all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crow members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

Surviva .	Additional Infor	nation
Monday	Start 5:00 am thru 9:00 pm	Working at Marianna
Tuesday	Start 5:00 am thru 9:00 pm	Working at Marianna
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each

					EQUI	PMEN	r		
Equipment #	M	T	VV	T	F	S	S	To	From
618 Crew Cab Pickup	16	16	16	16	16	16	16		
741 Material Handler Bucket	16	16	16	16	16	16	16	.1 ,	/2
590 Material Handler Bucket	16	16	16	16	16	16	16	XW	
650 Digger Derrick	16	16	16	16	16	16	16		cl
749 Pole Trailer	16	16	16	16	16	16	16	No mil	100000000000000000000000000000000000000
								101.	The state of the s
141									There is a state of the state o
									to the street of

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be

MDR Construction Card unless meals are supplied by the customer.

C-101



MOR CONSTRUCTION, INI 621 CAST BAYLIS CHAPE DULLIMBIA. MS 34429 PHUNE: 601 YILLRYIN FAX: 601 791.8774

October 22, 2018

Mr. Clint Brown
Flordia Public Utilites

invoice # 25-23102 Week Ending October 21, 2018 Foreman Richie Culpepper Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
	44,747.23		Total Men	45,292.80
Equipment		Qty	Price	Total
Crew Cab Pick-	up qu	112.00	24.31	2,722.72
Material Handler	r Bucket 57'	224.00	47.36	10,608.64
Digger Truck	5,20132	112.00	47,36	5,304.32
Pole Trailer	3,771.73	112.00	17.60	1,971.20
			975	
	14, 2, 3, 41	2	Total Equipment	20,606.88
	2}		Total Fuel	55.00
			Total Due to MIDR	65 954 68

PR#: 0 22
Date Rovd: 10-26
Received By: 0
Scanned Date: 10-26
Processed By: J Roye

MAM WITHSTANDARFING DUM



MOR CONSTRUCTION THE 621 EAST BANTS CHAPL COLUMBIA, MS 39422 PHENE GOT 731 2776 FAX: GOT 731 2774

October 22, 2018

1

Mr. Clint Brown	
Flordia Public Utilites	

Invoice #	25-23102
	October 21, 2018
Foreman	Richie Culpepper
Storm Number	FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman	j. za ese Ne	224.00	84.65	18,961.60
Operator/Truck Driv	rer	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
Control of the	A CANADA.		Total Men	45,292.80
Equipment .		Qty	Price	Total
Crew Cab Pick-up	2.74	112.00	24.31	2,722.72
Material Handler Bud	ket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
		Т	otal Equipment	20,606.88
	Ser at 25		Total Fuel	55.00
		To	tal Due to MDR	65,954.68



Richie Culpepper

FE1890469751430

Week Ending

10/21/2018

Location

Florida Public Utilities

	Vien a	To	tals	Γ								
Weekday	15	16	17	18	19	20	21			Meals	Motel	Other
Employee Name	M	T	W	Т	F	S	S	RT	ОТ			
Richie Culpepper	16	16	16	16	16	16	16		112		**************************************	Foreman
Trey Ross	16	16	16	16	16	16	16		112			Lineman
Scott Sumrall	16	16	16	16	16	16	16		112			Lineman
losh Walters	16	16	16	16	16	16	16		112	 		Operator
Chase Little	16	16	16	16	16	16	16	11.00 1 111	112			Groundman
X M 4000 100												
i i i i i i i i i i i i i i i i i i i	:			; ;	. 1							- Maria - Mari
									1 11 111	1		The state of the s
	:			i i								FT 1100 10 10 10 10 10 10 10 10 10 10 10 1
					4				- 41 - 24.		*** ***	- was the same .
				1			2001 L 2008				* *******	**

ve list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information								
Monday	5:00 AM - 9:00 PM	A STATE OF THE STA							
Tuesday	5:00 AM - 9:00 PM								
Wednesday	6:00 AM - 10:00 PM	1.17.14							
Thursday	6:00 AM - 10:00 PM	2 2 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1							
Friday	6:00 AM - 10:00 PM								
Saturday	6:00 AM - 10:00 PM								
Sunday	8:00 AM - 10:00 PM	00 t 0 t 2 t 2							

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each

					EQUI	PMEN	T		
Equipment #	M	T	W	T	F	S	S	To	From
550 Crew Cab Pickup	16	16	16	16	16	16	16		
690 Material Handler Bucket	16	16	16	16	16	16	16	The same of the sa	
720 Material Handler Bucket	16	16	16	16	16	16	16		2 1 Mary Printer in Section & Tax
698 Digger Derrick	16	16	16	16	16	16	16	The second of th	of fateronic or Pateronic Co. C.
576 Pole Trailer	16	16	16	16	16	16	16		· · · · · · · · · · · · · · · · · · ·
		-					L	,	
		1 -							
						er 10 10	,	3 100 mm (m) moment (m)	The state of the s
· · · · · · · · · · · · · · · · · · ·					;		!	-	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Richie Culpepper

Job No

FE1890469751430

Week Ending

10/21/2018

Location FPU Marianna Hurr. Michael

Other		
e-Foreman		
Journeyman		
-Journeyman		
ment Operator		
-Groundman		
######################################		
-		

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple joir days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information								
Monday	Start 5;00 am thru 9:00 pm	Work at Marianna							
Tuesday	Start 5;00 am thru 9:00 pm	Work at Marianna							
Wednesday	Start 6:00 am thru 10:00 pm	Work at Marianna							
Thursday	Start 6:00 am thru 10:00 pm	Work at Marianna							
Friday	Start 6:00 am thru 10:00 pm	Work at Marlanna							
Saturday	Start 6:00 am thru 10:00 pm	Work at Marianna							
Sunday .	Start 6:00 am thru 10:00 pm	Work at Marianna							

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular lob please give specifics for each.

				EG	UIPM	ENT	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		With the Control of t
Equipment#	M	T	W	T	F	S	S		
550 Crew Cab Pickup	16	16	16	16	16	16	16		
890 Material Handler Bucket 55'	16	16	16	16	16	16	16		
720 Material Handler Bucket 55'	16	16	16	18	16	16	16		Yav
698 Digger Derrick	16	16	16	16	16	16	16	177	XIV
576 Pole Traller	16	16	16	16	16	16	16	٨٨١	11 110
				14				1/2	103/10
								1 1	010
					-		**************************************		I am and a second
						***************************************	~~~~~		

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for ampliouees on storm work should be obserted on the

MDR Construction

Weekly Timesheet

Rich Chepeppe FPU STORM 259918H 7130

Jud

Welcome To Loves#453 2510 Hwy 231 Cottondale, FL

10/15/18 15:00

Pump Gallons Price 02 19.934 \$ 2.759

Product Amount Unleaded \$ 55.00

TOTAL SALE \$ 55.00

#############

Card: MC Approval:

A53858

Ticket:

41179

TOTAL SALE \$ 55.00

Thank You !!!



MOR CONSTRUCTION, INC 621 EAST BAYLIS CHAPEL COLUMBIA, MS 39429 PHONE: 601.731,2716 FAX: 601.791.2774

October 29, 2018

Mr. Clint Brown Flordia Public Utilites

Foreman Johnny Martin Jerry Brown Richie Culpepper Scott Arrington Eugene Breland Eric Jefcoat Brian Chambley Jayson Breland Jeremy Kirkland Clif Johnson Roy Sullins Jeff Thompson Billy Hayes Cole Wyatt Darvin Grant Joel Les Curtis Chisholm Brian Barnett



Invoice # 25-23123 Week Ending October 28, 2018 Storm Number FE1890469751430

> Amount 71,499.68 4 \$70,939.68 v \$65,899.68 65,899.68) \$79,507.68 w \$79,630.88 4 \$106,243.84 √\$71,499.68 V \$70,035.36 🗸 \$64,545.28 \$65,899.68 \$65,899.68 \$72,833.60 \$70,174.72 \$65,899.68 > \$64,152.32 * \$113,278.40 \$89,156.48

Total Due to MDR

\$1,352,996.00

madassified 1,60 rales also co

NIGO BALISTWOSTED HAW

Date Roy Received By:

Scanned Date: 1

Processed By: J Roye



521 EAST BAYLIS CHAPEL
521 EAST BAYLIS CHAPEL
COLUMBIA, MS 39429
PHONE: 601.731.2716
FAX: 501.731.2774

October 29, 2018

Mr. Clint Brown Flordia Public Utilites Invoice # 25-23123
Week Ending October 28, 2018
Storm Number FE1890469751430

Foreman Johnny Martin Jerry Brown Richie Culpepper **Scott Arrington Eugene Breland** Eric Jefcoat **Brian Chambley** Jayson Breland Jeremy Kirkland Clif Johnson **Roy Sullins** Jeff Thompson **Billy Hayes** Cole Wyatt **Darvin Grant** Joel Lee **Curtis Chisholm Brian Barnett**

Amount \$71,499.68 \$70,939.68 \$65,899.68 \$65,899,68 \$79,507.68 \$79,630.88 \$106,243.84 \$71,499,68 \$70,035.36 \$64,545.28 \$65,899.68 \$65,899.68 \$72,833.60 \$70,174.72 \$65,899.68 \$64,152.32 \$113,278.40 \$89,156.48

Total Due to MDR

\$1,352,996.00

MANAGEMENT STATES



MOR CONSTRUCTION IN 621 EAST BAYLIS CHAPL COLUMBIA, MS 19429 PHONE 601 731,2716 FAX: GOL 731,2774

October 29, 2018

Mr. Clint Brown Flordia Public Utilites Invoice # ...
Week Ending October 28, 2018
Foreman Johnny Martin
Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman	11.	112.00	100.49	11,254.88
Lineman	4 7 1 2 1 7	224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman	1,200,000	112.00	64.62	7,237.44
			Total Men	45,292.80
Equipment	7.4	Qty	Price	Total
Crew Cab Pick-u	ib ·	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck	5,5	112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
Rope Rig		112.00	25.00	2,800.00
Tension Trailer	×, :)	112.00	25.00	2,800.00
ST ST		To	tal Equipment	26,206.88
		Tot	al Due to MDR	71,499.68



Foreman Johnny Martin

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs					То	tals			
Weekday	22	23	24	25	26	27	28		,	Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			
Johnny Martin	-16	16	16	16	16	16	16		1112			"Foreman » -
Shane Rankin	16	16	16	16	16	16	16	1000000	112		2200234000	Lineman
Brandon Lawshe	16	16	16	16	16	16	16		112			sEineman
Tyler Langham	16	16	16	16	16	16	16	2000000 AND TOO	112	MARKONETA		Operator
loey Dantin 💮 🖘 🕬	16	16	16	16	16	-16	16		112		5.00	Groundman :
					<u>.</u> 112							ik na 1900 pi wa Markaji
				34 Ju	95				Albahara Badana			
				.		e yasar		012 74 I				.

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's Initiats in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other, Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

4	Additional Information							
Monday	6100 AM: 10100 PM							
Tuesday	6:00 AM - 10:00 PM							
Wednesday	BI00/AM = 10/00 PM							
Thursday	6:00 AM - 10:00 PM							
Friday	6:00:AM:, 10:00 PM							
Saturday	6:00 AM - 10:00 PM							
Sunday	6:00 AM-:10:00 PM"							

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each,

	EQUIPMENT											
Equipment#	M	T	W	T	F	S	S	То	From			
881 Crew Cab Pickup	(6)	16	416)	[6]	(16)	16	(16)					
581 Material Handler Bucket	16	16	16	16	16	16	16					
678 Material Handler Bucket	16	18	416	16	18	16	16					
418 Digger Derrick	16	16	16	16	16	16	16					
316 Pöle Traller	16	16.	16	16	16	16	16					
731 Rope Rig	16	16.	16	16	16	16	16					
730/Tension Trailer	16	16	16	16	16	16	16					
		************	- Constant			- population (Cr	120124					

Please include in the spaces provided the number of meals for each member of the crew for the entire week, it is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction



Foreman Johnny Martin Job No FE1890469751430

Week Ending 10/28/2018 Location FPU Marianna Hurr. Michael

	- Men a	id Ho	lfs					To	tals			
Weekday	22	23	24	26	26	27	28			Moals	Motel	Other
Employee Name	M	T	W	T	F	S	8	RT	OT			
Johnny Martin	16	16	16	16	16	16	16					Line-Foreman
Shane Rankin	16	16	16	16	16	16	16					Line-Journeyman
Brandon Lawshe	16	18	18	16	16	16	16					Line-Journeyman
Tyler Langham	18	16	16	18	16	16	16					Equipment Operator
Joey Dantin	16	16	16	16	16	16	16					Line-Groundman
***************************************	,											
And the state of t			,	1								of the appropriate property and the second s
.,				3		.,			_ • •,			447 - 17 - 18

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with enother Foreness, indicate this by putting the other Foreness's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as evertime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information, Regulations for reporting meals is located at the bottom of this sheet.

	Additional Info	rmallon
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, Ft
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Saturday	Start 8:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

Equipment #	N 12				EQUI	PMEN	r		
The second secon	[V]	T	W	T	F	8	8	To	From
661 Crew Cab Pickup	16	16	16	16	16	16	16		
581 Malerial Handler Bucket	16	16	16	16	16	16	16	1 Vine	· · · · · · · · · · · · · · · · · · ·
678 Material Handler Bucket	16	16	16	18	16	16	16	11/10	The state of the s
418 Digger Derrick	16	16	16	16	16	16	16		
316 Pole Trailer	16	16	16	16	16	16	16	1 (20)	
731 Rope Rig	16	16	16	16	16	16	16	1017	A STATE OF THE PARTY OF THE PAR
730 Tension Trailer	16	16	16	16	16	16	18		1.1

Please include in the spaces provided the number of meals for each member of the crew for the entire week, it is company policy to pay a maximum of three meals per day for crews working out of town. Orews that drive to their job on Sunday are entitled to one meal for that night.

Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last MDR Construction

C-101



MOR CONSTRUCT ON ON 621 CAST BAYETS CHAPE UCCUMINA, MS 354222 PROMA 601,731 2216 FAS: GOT 741 2224

October 29, 2018

Mr. Clint Brown
Flordia Public Utilites

Invoice # Week Ending October 28, 2018 Foreman Jerry Brown Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
Equipment		Qty	Price	Total
Crew Cab Pick-	ap 12, 11 / 2	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
Back Yard Buggy	1.5 = = -()	112.00	45.00	5,040.00
		To	tal Equipment	25,646.88
		Tot	al Due to MDR	70,939.68



Foreman Jerry Brown FE1890469751430 Week Ending 10/28/2018 Location Florida Public Utilities

	Men a	nd Ho	urs					To	tals			
Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	OT.	и, ,		
Jerry Brown	18	16	18	16	16	4]6	16		112			Foreman
Cole Stewart	16	16	16	16	16	16	16		112	ARCHIES.	10.230012	Lineman
Owen Breazeale	16	16	-16	16	16.	16	16		112			Lineman*
Jerry Chisholm	16	16	16	16	16	16	16		112	052105-70	BELEVISION	Operator
Monroe Beardain	16	16	- 16	°16÷	- 16	16	18		112			Groundman 🖖
							61					
(A)				5.4							ф Д	
	**************************************								4 . 4		12.4	

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the weak please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information Regulations for ranging made is legated at the bettern of this about

Additional Information								
Monday	(6):00/AM - 10:00 PM							
Tuesday	6:00 AM - 10:00 PM							
Wednesday	8(00)AM-10(00 PM							
Thursday	6:00 AM - 10:00 PM							
Friday	6(00/AM)-10(00/PM							
Saturday	6:00 AM - 10:00 PM							
Sunday	8:00'AM - 10:00 RM							

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give

					EQUI	PMEN	7	ya ya wa a sana a s	
Equipment#	M	T	W	T	F	S	S	То	From .
586 Grew Cab Plokup	1(6)	16	16	16)	(6)	13	4[3]		TO THE PERSON NAMED IN
629 Material Handler Bucket	16	16	16	16	16	16	16		
857 Material Handler Bucket	18	16	18	16	16	113	16		
651 Digger Derrick	16	16	16	16	16	16	16		
660 Pole Trailer	16	16	169	/16	16	18	18		
663 Back Yard Machine	16	16	16	16	16	16	16		
					42-40 M.S.			212	
State of the state									to the second

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foremen's credit card, unless meals are supplied by the customer.

MDR Construction



Foreman Jerry Brown Job No FE1890469751430

Week Ending 10/28/2018 Location FPU Marianna Hurr. Michael

	Men a	nd Ho	ırs		(Kanauca)			To	tals			
Weekday	22	.23	24	25	26	27	28			Ments	Motel	Other
Employee Name	M	T	W	Ť	F	\$	8	RY	OT			
Jerry Brown	16	18	16	16	16	16	16					Line-Foreman
Cole Stewart	16	16	16	16	16	16	16					Line-Journeyman
Owen Breazeale	16	16	16	16	16	16	16	*****	h territorium			Line-Journeyman
Jarry Chisolm	16	16	16	16	16	16	16					Equipment Operator
Monroe Bearden	16	16	16	16	16	.16	16			ri wi-meessers		Line-Groundman
, New Agent		-		-						b musta'i fiabliqis salisheri sekirili		44] 74 / 11 14 17 17 17 17 17 17
							1111 5					

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as eventime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for repoiling meals is located at the bottom of this sheet.

	Additional info	rmation
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several clouds specify how many hours on each cloud for each day. If a cloud or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

		11		• • • • • • • • • • • • • • • • • • • •	EQUI	PMEN	7		
Equipment #	M	T	W	T	F	8	8	То	From
586 Crew Cab Pickup	16	18	16	16	16	16	16	1 1	
629 Material Handler Buoket	16	18	16	16	16	16	16		· · · · · · · · · · · · · · · · · · ·
657 Material Handler Bucket	18	16	16	16	16	16	16	1) ; NOW	All Marine Marine and a second
861 Digger Derrick	16	16	16	16	16	16	16		
860 Pole Traller	16	16	16	18	16	16	16		
663 Backyard Machine	16	16	16	16	18	16	16	17/30/10	A
the transfer of the second transfer and the transfer of the tr	,		********	14-1-0				101	
			.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						AMERICAN AND A 18 A 1
***************************************						11			

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mominos will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last MDR Construction

Weekly Timesheet



MOR CONSTRUCTION, 171 621 EAST BAYUR CHAPE COLUMBIA, NS 39420 PROHE 601,731 2716 FAX: 601,731,2774

October 29, 2018

Mr. Cli	nt Brov	٧n
Flordia	Public	Utilites

Involce #
Week Ending October 28, 2018
Foreman Richle Culpepper
Storm Number FE1890469751430

Overtime		Qty	Price	Tota!
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
Equipment		Qty	Price	Total
Crew Cab Pick-	up	112.00	24.31	2,722.72
Material Handle	r Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
		7	otal Equipment	20,606.88
		Te	otal Due to MDR	65,899.68

www.ноэгимгийлаг ван



Richie Culpapper

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs		The state of the s			Тс	tals			
Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
Richie Cuipepper	16	*18	16	16	116	16	164		3112		(F)	** * Foreman
Trey Ross	16	16	16	16	16	16	16		112			Lineman
Scott Sumrall	16	16-	. 16	16	- 16	16	16		112	e i		
Josh Walters	16	16	16	16	16	16	16	200000000000000000000000000000000000000	112	and compare	STATE OF STA	Operator
Chase Liftle	16	16	16	-=16 ×	.16	16	16		112			Groundman
and the state of t		estags cestags				5 3		e e		THE STATE OF		
	### F									a s a s		
Contract of Anna Contract Manager (1987)						Transition of the second	- No 100 - 1			7.5		40 5 7 44 27 47 47

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional

	Additional Information
Monday	(6):00)/AM > (0):00.PM
Tuesday	6:00 AM - 10:00 PM
Wednesday	8:00 AM = 10:00 FM
Thursday	6:00 AM - 10:00 PM
Friday .	6:00 AM = 10:00 PM:
Saturday	6:00 AM - 10:00 PM
Sunday	6(00/AM-40000 PM-

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

					EQUI	PMEN	7.		
Equipment #	M	T	W	T	F	S	S	To	From
660 Grew Cab Pickup	(13)	(6)	(6)	46	(6)	13	16	Control of the second	
690 Material Handler Bucket	16	16	16	16	16	16	16	metal section and articles	
720 Material Handler Bucket	18	18	113	1(6)	16	16	16		Section 1985
698 Digger Derrick	16	16	16	16	16	16	16		
576.Polettaller	/16	16	16	16	16	16	16		Decree (1) Leaving (1) (1) (1) (2) (2) (2) (2) (2) (2) (2) (2) (2) (2
	1						k Tod		

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction



Foreman Richie Culpepper Job No FE1890469751430

Week Ending 10/28/2018 Location FPU Marianna Hurr. Michael

	Men a	nd Ho	811					70	tals	2	
Weekday	22	23	24	25	28	27	28			Meals	Other
Employee Name	M	T	W	ተ	F	ន	S	RT	OT	8	
Richie Culpepper	16	16	18	16	16	16	16				Line-Foreman
Trey Ross	18	16	16	16	16	16	16				Line-Journeyman
Scott Sumrall	16	18	16	16	16	16	16				Line-Journeyman
Josh Walters	16	16	16	16	16	18	16				Equipment Operator
Chase Lilile	16	16	16	16	16	16	16				Line-Groundman

In the spaces provided above ilst all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by pulling the other Foreman's initiate in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information. Regulations for reporting meals is located at the bottom of this sheet.

Additional Inform	nation
Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Start 8:00 am thru 10:00 pm	Working at Marianna, FL.
Start 6:00 am Ihru 10:00 pm	Working at Marianna, Ft.
Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Start 6:00 am thru 10:00 pm	Working at Marianna, FL,
	Start 6:00 am thru 10:00 pm

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

				E(QUIPM	ENT	
Equipment #	M	T	W	TT	F	S	\$
550 Crew Cab Pickup	16	16	16	16	18	16	16
690 Material Handler Bucket 66'	16	16	16	16	16	16	16
720 Material Handler Bucket 55'	16	16	16	16	16	18	16
698 Digger Demick	16	16	16	16	16	16	16
578 Pole Traller	18	16	16	16	18	16	16
			-		-		Complete Street
obsphrack (A Tiple) of the Addition of the Confession of the Con						~*************************************	**************************************
· · · · · · · · · · · · · · · · · · ·					**********		*****
**************************************		******					***********

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night, Meals for Monday mornings will not be paid for the afternoon of the tast day of the work week. Please report your meals each week according to these cultiplies. All meals for employees on stom work should be charged on the MDR Construction

C-101



MOR CONSTRUCTION (III) 621 CAST BAYI IS CHAPL COLUMBIA, MS 39420 PHOHE: 601 731 2716 PAX: 601 731:2774

October 29, 2018

Mr. Clint Brown
Flordia Public Utilites

Invoice #	
Week Ending	October 28, 2018
Foreman	Scott Arrington
Storm Number	EE1800/60751/3/

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
Equipment		Qty	Price	Total
Crew Cab Pick-u	p / 2	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Traller		112.00	17.60	1,971.20
		Το	tal Equipment	20,606.88
		Tot	al Due to MDR	65,899.68

www.rease.twl.uria.com



Scott Arrington

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		To	tals			
Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	Т	F	S	8	RT	ОТ			
Scott Arrington	16	16	16	16	16.	16	16		1112			Foleman
lonathan Baker	18	16	16	16	16	16	16	1	112			Lineman
David Matos	16	16	18	*16	16	#16	16	48/4-10	112		100	Lineman
len Kirkland	16	16	16	16	16	16	16		112	100.004.00	BONNES	Operator
lichael Breland	16	16	16*	16	16	16	18		112			Groundman
Control of the state of the sta							10 (10 m) 11 (10 m)					
		in je s			Artico.					r or august		
	N. 1			eran eran er			16 m		70.0			D.

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information
Monday	6:00:AM: 10:00:PM
Tuesday	6:00 AM - 10:00 PM
Wednesday	6:00:AM-10:00 PM:
Thursday	6:00 AM - 10:00 PM
Friday	6(00 AM - 10(00 PM
Saturday	6:00 AM - 10:00 PM.
Sunday	6(00 AM > 10:00 PM

List above any additional information needed, if you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

	100				EQUI	PMEN	7		
Equipment#	M	Т	W	T	F	S	S	To	From
604 Craw Cab Pickup	(6)	16	/16	/ (6)	/[6]	(6)	16		
672 Material Handler Bucket	16	16	16	16	16	16	16	April 1 20 d'Anna Construction de la Santial de de la consti	
874 Material Handler Bucket	18	16	16	16	16	181	16		
641 Digger Derrick	16	16	16	16	16	16	16		
807/Pole/Trailer	118	,16	118	16	16	18	16		
								10.00	
		100000			15000				

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town, Crews that drive to their job on Sunday are entitled to one meal for that right, Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

C-101

MDR Construction



Foreman	Scott Arrington	•	O	13	8	•	H V (i ti	•	()	Job No	FE1890469751430
Week Ending	10/28/2018									Le	ocation	FPU Marlanna Hurr, Michael

A4440 (100 A110 A110 A110 A110 A110 A110 A11	Men ar	To	tais	*							
Weekday	22	23	24	25	26	27	28			Meals	Other
Employee Name	M	T	W	T	F	8	S	RT	OT	is	
Scott Arrington	16	16	16	16	16	16	16				Line-Foreman
Jonathan Baker	16	16	16	16	16	16	16				Line-Journeyman
David Matos	16	16	16	16	16	16	16				Line-Journeyman
Ben Kirkland	16	16	16	16	16	16	16				Equipment Operator
Michael Breland	16	16	16	16	16	16	16				Line-Groundman
to the state of th											
·	_										
	لبال			,,l			I				

In the spaces provided shove list all employees' full name and house worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime, if you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet,

	Additional Inform	nation
Monday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL.
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL,
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each,

				EC	UIPM	ENT		
Equipment#	M	T	W	T	F	8	S	
604 Crew Cab Pickup	16	16	16	16	16	18	16	1 1/1/
672 Material Handler Bucket 55'	16	16	18	16	16	16	16	· Har
674 Material Handler Bucket 55'	16	16	16	16	16	16	16	1/100
841 Digger Derrick	16	16	16	16	16	16	16	
607 Pole Trailer	16	16.	18	16	18	16	16	1 110
				-	***************************************	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		12/120/10
					***************************************			10134
								The state of the s
	,							

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Grews that drive to their job on Sunday are entitled to one must for that night. Meals for Monday mornings will not be paid for crews teaving from home on Mondays. Also, a meal will not be paid for the afternoon of the leaf day of the work week. Please report vour meals each week according to these pultilines. All meals for employees on storm work should be charact on the MDR Construction.